R64 3H KGR FER

S

e =

SRR R T —

* BRI H OEES

<

IN

& () INFROETTD>

Al
1 HOK) 2HCKR) 3H) 6 H(H) THCK) 8 H(K) 9HCR) 10 H (%) 13(H) 14H (k) 15 H0K)
HL—FAAEZFA) | BEHLTL 1 i) DI ETE Fx— FTR FLHT—A ) OO TR p SNk FTR
ZEES 72 [k 72 [MEEk [ soxtiEk 68 [¥ 1k 80 [k 12[hiEnA [N (HRER [ soHiEk 80 PRI AD < |1 TR R 72
BROEkhik| 8 [renssoLsa] 27 444 FRERDOFHE 27| PP LDFE | 1.2|BBEE kkik| 8 [KbLA 15 |45 BAEIAL DD | 2.4|Fam7v—20 BrheX Kkhik] 8
DRSS 35 |2£5L I I D Rt 0.2]£5L CALA I EEET B B Fams)—n J12|FR
rEnE s2 |4l ol [ialkRaat gl w0l ioapgmoaor [ sl won Lixlex an 5 |G [N PR EED 3ol ik
IZACA 15 | AR ERE 25 | FRSOFFELH  |FmFRESVN | 15 FABAH Fyy 20 | ARHE T 25 |R&E DA B3 fOH o] i
738 25 |72V 30 | AHR ELE 20 | FH# 5 1 licitabok | 8 |HBFERTA2 20 |[HRL Gek) | 30 [RiES 8 |7mFnE 3BV —=bFa—  |TIFD 12
PEEZLOH 1 |eEhaE 15 Lo 20 | AR 20 |RE A7 8 |z 20 | R—na—r 10|72 zA 25 | R e 20 b b ERL | 18 |BEATAA 12
2z—y—2 | 5 |hEFED 5 [hd T (% %4) 5 [Iz<LAmx 10 |H#EZLOFE | 1 | ABEE 20 |BALASE 0.5|LHLART 8 |HidiFEIA) | 5 [vA(A) 0.5IcACA 12
TA () L5 | ASH S A 20 |y b 0.3|mFhE 30 |Lxop (ZVv B | 1 [ildi () 5 |BALIZAIZL 0.3y b 0.3| ¥ ] [ES/NALS 30 |72V A 12
BALWAZ 7 [RE A4 5 [ %A 5 | Aol 3| K 0.1|Z1F9 12|LxH (VKB [3.2]0E A 5 [IEILA20XE 5 [lICACA 15 [AH g 20
BALIZAIZL 047 —24i 2.5(FfEZLDFE  [0.1|LESP GF<B| 4 [2Lxd(B) 0.02| 7 L—21fi 25|42z —y—2|0.5|fEZLOFE  [0.2|ETFLGELH) |2.5]7-FhE 30 |FaE A7 5
BALEZE 0.4 fnE 7z Lo 0.2\ (R) 7.5| Kt 0.15| = Fiih 0.4|FEZLoFE  [0.3]2Lxd (A) 0.04|LE5P 5F<H3.5|AZ(BdbE) 7.5 —a—r 8 | FLLW=ir |05
HL—L 9.3|LrrP (OB 2.6/ ETLGZLH) |25\ fEZLOFE 0.3 K0 0.2)LrHop (W <H | 4.3| K 0.2| K 0.1|mmeniziotprrsn |7 ayal)— 20 |FuEZL 0 |oas
Kk 0.1|LEo (VB 1 [Ev2iEA 71— 2.5| 45 Kt 0.1 Lw7-rr-7ox| 3 |ZL—2FH 2.5|FKbH A 30 |HERZLOFE  |oas| 7 L—2 2
K 0.3 K 0.15| B O 45 | =794 3L fOH |12!K JRADL L0308 |1 L2|SIEDHZENT RK¥g 0.05) K 0.4|Lx5@ (T H| 4
Lo (Zv<h | 1 iz olakex Kedan il 0.2 =771 IR~y I A= iEe—AK | 25 |FHEZLOFHE  [0.4]1 19}im 0.5|ZLx9 () 0.02| BALAZE 0.15
MR Fro 7 | 3 | iz A A 10 | K& 3 [EHbbAREZRL | 10 |KbHH 30 |HmATA—7 | 10| K& 0.08| 7> 7=<V ¥ 4 |AEZ)—2A 3| R 0.15
y3v 0.03| 2 [TeEbk 10|rFryr 3 |BALARE 0.2)#z50 1 |k 0.2|8BALEZE I |naca G| 20 (450 FHEEA | 35 27Ky 0.9
3L Kk 0.4| = 1L4E 2.5\ FnJE 74 E<EN 35 |BALESE 0.5 7=<v¥y 0.8 2 |0 7=<vky 3 (== 0.01|HADERE N
3 A |12K ZERZ i 2 [Fvy>y 25 |k 10 |iE 2 |43 I (FR) 2.3 K 45| KTy 5 |BbbH X | 14)
ONSE DL |wsenAaFa] 10[Ledd (G9<B] 4 [IcAta 0|Fororra | 8 [ALAEE N CE 7 RS 2.3|de& kT 5 [kl 0.2 2
s 38 [Fy 30| BALAEZE 0.15| I EIFIN AL | 10 |F—va—r 8 |Lrop (2B | 2.4 A DI BHHT B A 1| =ibE L8[l S Pyl BALAEE 1
BAHLAZE 0.8IcALA 10 [ A0 A 3 |m—n=a—r 5 [FLLW= 05|30 A 1 |BbHAERL | 45 [ L5|Lxowp (2 <h | 2.2| ik 85| BREA 0.05
i 18| Ffmz 0k |44|AZAYTH FIRRL Yo7 T | A A RS —y—2]0.4| =K 1 [Lxo (Zun<H 0.8k 2 |0 A 2 | R¥ 0.1|Lx5@ (v <H | 0.5
Lo (ZvXB ] 1 OB Az i GlEI) | 30| V) F—2 vk HEEZLOFE | 0.8 Ksanil 0.4|BALAZE L8|LenWnb &Y K 2 |2l (H) 0.02| 237=<VH 5
Kif 0.1|OLBF [iz]|z%o7 10 [3—2 Lk |iz|mroa— 8 |7V 0.2]|BALITANZL Jo.25) L 40 |asgsnatiosyrinz |74 (F) 1| =g 0.4
HOVH 0.1 F—a—r 10| () BN —F  FELOFE 0.2|9) - RIR ORI |iH 1 [icAiti 10 [iE<&En 23 |L' B 0.3|BALAELE 0.4
H1=<0ky 4 EnErvyse | 7 [Baosr— |1z xs 0.15| BIF-RAR 3.5| R 0.1|7=Fh& 30 [IFHhAES 12|BALIZAICL [0.2|Lxd (2B 2.2
Ky 2 ZLxo(A) 0.01JIcACA 10 |#Ez50 0.1|Tetk s 8 |icAtAa 10 | AV —7'{ 3| HA 2.8
Kl 4 L1 O F<H[2.5|2F 7% 12 KBy 3 |BvbmARL | 15| F—na—r | 5 |Ek kY 0.08i% 1
oy Y LR ORI B RAE HOL (R E) 10 |73 7=k 5 |zricxc@nza| 5 ok 0.7|/38y 3 |\vF—kt=a2| 7
Fy Y 30 Bk 12| Fmzo#E  |3.5 K5 4 | IR 1.5)H ELxop 2 |7 K| 23 7=< 0¥y 0.15
Ll 10 SRl 3 | % AHDY 0.3]7'mya)—21757-0454 | L9 (21K H [ 2.8 NTTNAFHE K 1
KA 10 BT —h FOAZIR Tayal)— 30 [FAERZLooFE 0.3 Fp Y 25| KELOLEDEY
ERNEDONHT HeFy—t |iz]Eoacrs iclwuonoso—| o5 i 1.3 =95y 15 | K Ek# 7
Wb [1= HezkLos | 6 |Boa 1.3 A —<| 10 ROUE 2.5
LEL VR K2l 0.3 ATV )| T PRz aicoioxza] 8
L sk |1z Pr(A5 4 2) 8
TeEt e 8
i} 1.4
=i 1.3
RN rhafs e et e 2 _F/s o L LEop(ZuKb| 1.8
BIAT R DN VA B RESE WO Y2 A ML FRO H aEELo%E |03
Kz 0.2
70 A 1.3
16 HOR) 17HE) 20H(H) 22 HOK) 23 HOK) AH10H )4 11HCK) F
BHE A EEA BIA F IR BT BEA oy~ Wanhok |1z
55 A | RS | 80 [k [ 80 |11k PIEDE 1= IEER [ 80 [z < [1-
43, 43 3L BloteX k| 8 | KT 6.6 43 A4=3,
[ S T B T B P ro=a—4E |5 gl ol Doalaesl wom ik
EORHIEADIH DIEOF5 NEIIH KES50HF |1: X7k 7.5 b AL Fp XY A—T
TeERE 30 | R EIE 35 | B iR Ip 15 |45 i R 0.13 JANYY 20 [_—= Ak |10
NaES) 15 |IEbH A 20 | ARHR TS 20 |43 A |1$ 2R3 TmFhE 18 |[Fr > 25
T (% A) 8 [ix<En 30 |7zFhE 25 |FEOTFELH Al T |17I§ A I 20 [7=FEhE 25
AL 10 |aX %74 5 [IILAaDE 10 e FIEZ 10 |3—MR—1L D= I LD 8 [lCALA 10
FLLWET o5 FLLLET | L2iEnAaEd 8 [iII<Lamx 10 |F><2 40 RE LA 5 LT 8
HWHHH L | 20 [i2h 5 |[7v—2fi 2.5| RS 25 U, 20 1 N 0.3|F—na—r | 8
i 0.5|BALAEZE 1 [fE7ZLo#% 10.3]720n A 25 |7z E & 35 AFLEELA) | 2 [vA(B) 0.5
nE gl 5 [BALIZAIZK | 1 |Lxr (5F<B|3.5]|A2iF 3 [lCA LA 15 FEZLOFE  foas|a /A 1.2
L1 (ZW<H | 2.5 1 | K& 0.15|LEOD OF<B] 3 [Fr> 20 HZ(Bbt)  |7.5|LrHd (579<H]0.5
L1 (O9<Kb| 3 |BAT7A—F | 10|237K0# 0.5| Kt 0.15| b hk#E S A2 ] 20 TR OHRY X K 0.2
TL—2fi 2.5|H#Z(dit)  |6.5[EOREX FRZLOFE 03|~ rFroT | 3 bR X (19| S BrlEx
MAZLOHE | 0.5]FLF 10 |[&bH5 19| 7L — i 2.5| K 0.1 BALAZE 1.5 fii: 149
0 Ay 1 Lo (Zv B 0.5 K 0.1|S&HT7FA ZLxo(H) 0.02 i 2 | K& 0.2
K 0.45) Y A 2 [Lxow (Zu<h | 08| xsly IR[LEOD (5F<H][0.4 L1o (ZuXH] 1 [2lxd(F) 0.02
HAODEBEFHT |RXOHEEDHANT |BALAZE 0.8]i 13| /% 1.3 HOA 1 |TA(A) 1
riwl/ah vk | 22 | 85| b 1.6| K4 0.1[4V—7"itl 0.2 D=0k 1 |ver Bt 0.3
INER 5 |iti L5|LEo (ZV B[ 15|12l x5 (A) 0.0l ¥ F X TH Lo (Zub | 1.5[BALICAIZL (0.2
=<V 2 | KHfg 0.05] = iEAE LA INZER 4 [H0L (ks 20 =R 1 [AV—7"h 3
FLEHD 0.3 k¥ 3 |AbAa 1|k 8 |ZiFE> 10 0 A 0.5| ¥4 2Y 0.08
ok 0.4]|237=<0 ¥ 3 |E 1ok 5 [WiEohAzs| 10 D=0k 0.1|/3 8y 3
HFOOEy 0.2 KE.iH 5 |/ 7=<v¥ 0.3| KEH 4 |x—ra—r 10 7K 2 |#A >~ 15
AR i 5 [RvrAae—<r | 5 |k 4 |5 EY—2 2 |VARL Yy 7| T 1 FLRIROEA T [puzporconveoyss
P I R VT —kA=Fr| 3 |WFKIEOEMNT |BVidbAfiz |E A B KAR 6 [MiEbs 25
N B S es o EX RN 6 |Fr~ 27 [ a0 = WAL A 10 [Ceas g 20
hal SSVAS 12 | =R 25[ICACA 7 |&wov 8 FLLwiziy  [o3|textka 8
A—a— 8 |L1Hp (ZW KB 2 [Frim(A742) 5 [lcAtA 10 MbiF Gl A) | 6 R 0.1
PH0E 0.7 | KHE 1 [Rzaiceiozza| 5 | TEIT<BA | 5 HESRVAFL] 5 |war—X 7
S=HT-HLH T ] 0.5 1 A) 3 |k 0.2 =R 2
= LE 12k 2 [expiE 5 |0 B —% Lriw (| 2
HYT5 = L8|pinr—x |1z FEZLOFE |05
Fifihyh 3 |Lro (CvB | 2 | ()3 —2 )Lk i 1
Fp Y 2 [fE= Lo [0.4|la—2 1k = Kb 0.3
WZAC A 12 | 1
EPSU) 8 |kl 0.2
Nunvs =N | T [ DEs A —
WENABY— |12
Ly e
stion | DEEEER e

ARG B D NS R PERPEM I, JAZ L — 7 BRI T, BT L O BB XD B A Th LT ES,
- TP A S M PE T HEE 2 ) 13, PR RIS W CIRE B EEM B2 FERER)I G 528 2@ U T DENNO OB RAE L HEE T 222 BRILLTVET,




